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Question 1 (5 marks)
What is the simplified form (laeie J5.3) of
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Exponent (u+Y¥)answers must have positive exponents (2¥) in them.
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Question 2 (5+5=10 marks)

Solve the following absolute value equation to find x,

|4x—2|—6=20
xX= and x=
Question 3 (5+5=10 marks)

Find the values of x by solving the following absolute value inequality.

|x +6]

=3
1 326

x 1s less than equal to or x 1s greater than equal to

Question 4 (5 marks)

Solve the following equation:

5x-20=x+4

X =



Question 5 (5x4=20 marks)

The quadratic function f(x) = x2 + 2x — 15
@  Thevalue of f(—2)is

(b)  The solution of f(x) = 0 are

() The value of {f(—1) + f(1)} =

(d) The value of (f(—2))2

Question 6 (5 marks)
Find the value of x
( i )" -3 _ 125
5 64
Answer:
Question 7 (5x2=10 marks)

A straight line 1s defined by the following linear equation
y+4=2x+1)

(a) What is the slope of the line?

(b) What 1s the y-intercept of the line?



Question 8 (10 marks)

Find the value of x
log4(2x +2)— log4(x -2)=1

Answer

Question 9 (5x3=15 marks)

If fix) and g(x) are real functions defined by
f&) = 2x+1, and glx) = 4x - 7

(a) for what real numbers x, f (x)= g(x)? Answer: x =

(b) Find the value of f (-2)+ g(3). Answer:

(c) Find (i)(z). Answer:

Question 10 (10 marks)

The solution set of the equation In(3 — 3x) + In(e3) = -5

Answer:



